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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 4 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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© www.ncerthelp.com SECTION - A

Question numbers 1 to 10 carry 1 mark each.

1.  The graph of the equation x +a=0 is a line parallel to y-axis and to the left of the y-axis

if
(A) a<O0 (B) a=0
(C©) a>0 (D) For any real value of a
2. (Class mark of a particular class is 10.5 and class size is 7, then class interval is :
(A) 10.5-17.5 (B) 3.5-10.5 (© 7-17.5 (D) 7-14
3.  Two parallelograms are on the same base and between the same parallels. The ratio of
their areas is :
(A) 1:1 B) 1:2 ) 2:1 (D) 1:4

4.  The value of k for which x=1, y= —1 is a solution of kx —2y=0 is :
(A) 12 B) -2 (© 5 (D) -8

5. A bag contains x white, y red and z blue. A ball is drawn at the random, then the
probability of drawing a blue ball is :

z Y x
X+y+z (B) X+y+z (© X+y+z

(A) (D) 0

6. Ina A PQR, right angled at Q, PQ=24 cm and QR=7 cm. S is the mid point of PR.
then RS is :

Q R
(A) 3.5 cm (B) 12 cm (C©) 25 cm (D) 125 cm

7.  The region between an arc and two radii joining the centre to the end points of the arc

is called :

(A) an arc (B) a sector (C) a segment (D) a diameter
8.  Diameter of the earth is four times (approximately) the diameter of the moon then the

ratio of their surface area is :

(A) 4:1 B) 8:1 (©) 16:1 (D) 64:1
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© WWW-"Q?rthﬁlptEQ'given figure, AB is a diameter of the circle. CD||AB and /BAD=40° then
ZACD s.

(A) 40° (B) 90° (C) 130°

10. The mean of a, b is 8.5 and mean of a, b, c is 7. The value of c is :
(A) 2 (B) 4 © 5 D) 9

SECTION - B

Question numbers 11 to 18 carry 2 marks each.

11. Eleven bags of wheat flour, each marked 5kg, actually contained the following weights
of flour (in kg) :

4.97, 5.05, 5.08, 5.03, 5.00, 5.06, 5.08, 4.98, 5.04, 5.07, 5.00

Find the probability that any of these bags chosen at random contains more than 5kg
of flour.

ABCD is a parallelogram and AP and CQ are perpendiculars from vertices A and C on
diagonal BD. Show that.

D

i) A APB=A CQD
(i) AP=CQ

Find a value of p for which x= -2, y= —1 is a solution of the linear equation
5x+2py=2p

OR
Check which of the following is (are) solution(s) of the equation 3y —2x=1

®H 4 3) i) (2v2,342)

14. Construct an equilateral triangle, given its one side = 5cm.
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© www.ngsrthelp.geiftentage of marks obtained by a student in the monthly unit tests are given
below :

Unit test I II III v \Y

Percentage of
, 69 71 73 68 74
marks obtained

Based on this data, find the probability that the student selected at random gets more
than 70% marks in a unit test.

16. The curved surface area of a right circular cylinder of height 14 cm is 88 cm?. Find the
diameter of the base of the cylinder.

17. The capacity of a cuboidal tank is 50000 litres of water. Find the breadth of the tank, if
its length and depth are respectively 2.5 m and 10 m.

18. Find the median of 34, 32, x, x—1, 19, 15, 11 where x is the mean of 10, 20, 30, 40, 50.
SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19. In the given figure, two circles intersect at two points B and C. Through B, two line
segments ABD and PBQ are drawn to intersect the circles at A, D and P, Q respectively.

Prove that ZACP = £QCD.
P D

20. The angles of a quadrilateral are in the ration 3 : 5: 9 : 13. Find all the angles of the
quadrilateral.

21. Show that a diagonal of a parallelogram divides it into two congruent triangles and
hence prove that the opposite sides of a parallelogram are equal.

OR

Show that the diagonals of a rhombus are perpendicular to each other.

22.  Solve the equation 2y +3 =3y —5 and represent the solution(s) on
(i) the number line

(ii) the Cartesian plane
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© www.ngertheglp:£0mins are tossed simultaneously 200 times with the following frequencies of
different outcomes.

Outcome |3 heads |2 heads | 1 head |No head
Frequency 23 72 77 28

From the above compute the probability of the following :
(i) atleast 2 heads
(i) 3 tails

(iii) at most one head

A wall of length 10 m was to be built across an open ground. The height of the wall is
4 m and thickness of the wall is 24 cm. If this wall is to be built up with bricks whose
dimensions are 24 cm X 10 cm X 8 cm, how many bricks would be required ?

In countries like USA and Canada, temperature is measured in Fahrenheit, whereas in
countries like India, it is measured in Celsius. Here is a linear equation that converts
Fahrenheit to Celsius.

P (2)c+3z
5

If the temperature is 30° C, what is the temperature in Fahrenheit ?
If the temperature is 95° F, what is the temperature in Celsius ?

Find the temperature which is numerically the same in both Fahrenheit and
Celsius ?

Construct a triangle ABC in which BC=7.5 cm, /B =45°and AB—AC=2.5 cm.

A river 3 m deep and 40 m wide is flowing at the rate of 2 km per hour. How much
water will fall into the sea in a minute ?

OR

Twenty seven solid iron spheres, each of radius 2 cm are melted to form a new solid
sphere. What will be the surface area of the new sphere ?

ABCDE is a pentagon. A line through B parallel to AC meets DC produced at F. Show
that.

(i) ar (ACB) = ar (ACF)
(i) ar (AEDF) = ar (ABCDE)
OR

XY is a line parallel to side BC of a triangle ABC passing through A. If BE || AC and
CF || AB meet XY at E and F respectively, show that.

ar (ABE) = ar (ACF)
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© www.ncerthelp.com SECTION - D

Question numbers 29 to 34 carry 4 marks each.

29. Ina city, the following weekly observations were made in a study cost of living index.

Cost of Living | Number of Weeks
Index
140-150 5
150-160 10
160-170 20
170-180 9
180-190 6
Total 50

Draw histogram and frequency polygon for the above data.

30. In the given figure B and E are points on the line segment AC and DF respectively.
Show that AD||CF.

B @

31. In the figure, the side AB of a parallelogram ABCD is produced to any point P. A line
through A and parallel to CP meets CB produced at Q and then parallelogram PBQR
is completed. Show that ar (ABCD) = ar (PBQR).

Dﬁc
B

A P

Q R

OR

ABCD is a trapezium with AB|[DC. A line parallel to AC intersects AB at X and BC at
Y. Prove that ar (ADX)=ar (ACY).

32. Show that the bisectors of angles of a parallelogram form a rectangle.
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© www.ngerthelp:Gesmas a piece of canvas whose area is 551 m2 She uses it to have a conical tent
made, with base radius of 7 m. Assuming that all the stitching margins and the wastage
incurred while cutting, amounts to approximately 1 m2. Find the volume of the tent
that can be made with it.

OR

A dome of a building is in the form of a hemisphere. From inside, it was white-washed
at the cost of Rs. 498.96. If the cost of white-washing is Rs. 2.00 per square meter, find
the following :

(i) inside surface area of the dome.
(i) volume of the air inside the dome.

Draw the graph of the linear equation 2x—3y+7=0 and hence find the co-ordinates
of the point where the line intersects x-axis.

-00o0-
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1.  GHER x+a=07H G y- 318 6 THIG 9 y- T8 6 o5 AR ST 97Q -
(A) a<o0 (B) a=0
(C) a>0 (D) a % | arfas 7T & fag

2. et ot 1 af-fag 10.5 ® 1 afg avf e 7 & @ ot siawer 2
(A) 10.5-17.5 (B) 3.5-10.5 (C) 7-17.5 (D) 7-14

3. T OUR IqdT T & NUR iR T & THiaR Y@l & e 91 €1 3R Skl i ST
g

(A 1:1 B) 1:2 <© 2:1 (D) 1:4

4. k% 98 AN 5EF AT x=1, y= —1 FHIHEW kx—2y=0 1 TH A ¢ :
(A) 12 (B) -2 ) 5 (D) -8

5.  TH I H x W, y A 3R 2z Aielt g &1 T i agezan et 1 et g Feper

EIRETIRE
z y X
(A) X+y+z (B) X+y+z (©) X+y+z (D) 0

6. APQRH, a1 £ Q @H®U 8, H PQ=24 cm 3R QR=7cm ¥| S 4T PR &1 7 foig ¥,
q& RS &M :

Q R
(A) 3.5 cm (B) 12 cm (C©) 25 cm (D) 125 cm

7. 9 %I Tk 919 F IA &k g bl A9 & I foagedl @ Sed et o Fened g o &
HEATT ©

(A) T =M (B) Tk Bsam@me (C) THh Ju@vs (D) Teh =AE
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< T eThfa H, AB I 1 Uk A &1 CD||AB A /BAD=40° &, T LACD HI AU T :

C D

(A) 40° (B) 90° (C) 130°

adbRIHIET 858 A a, b, cHIHEA7 | Tl cH AA G :
A) 2 B) 4 (C 5

Que ‘q’

YT WE&AT 11 ¥ 18 Ak Udeh U9 2 3ichl Al ¢ |

11. 3T &t 37 7Rg dferdl §, 59 W 5 kg 3iferd &, ara # o1 & ffafad 9r (kg #) €
4.97, 5.05, 5.08, 5.03, 5.00, 5.06, 5.08, 4.98, 5.04, 5.07, 5.00
A=A A TS T Aelt H Skg H e 2T 8 il WifTehal Jd it |

12. ABCD U& 99 9g4< § 21 AP 3R CQ 3 A 3R C ¥ fashvi BD W A &4 § | TWET
o :
i) A APB = ACQD
(i) AP=CQ

A

13. p & 98 AF ¥d Sitee 5@ faw x= -2, y= —1 f aw avfiem &1 & 5 ¢ -
5x+2py=2p
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T Hifee for fFefafed 8 ®F-%0 § 9HEm 3y —20=17% (%) TA T (¥) ?
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